Pracovni list — 8. ro¢nik — vyrazy

Zjednodus
a) 3x+9+2x—5-10x =

b) 7a?—6a+3b—-1+3a’+2a—-b’+4-=
c) -1,2-0,2x—y—-0,4x—7y+0,5 =
d) 100 x-x-x-y?>-y-5=
e) 6a?-ad-b-a  bll=
f) 3,1x?—5,2x*=
Roznasob
a) c-(2b+4)=
b) 225 (-223) =
c) (3x*—y—1)-(=2x)=
d (y+3)-(=5=
e) (n=9)-n=
. Vypocitej

a) 3+x—(2x+8—-x?) =

b) (x*+4)+ (x?—9) =

c) —(5a+5)+(4a+2)+(3a—9)=

d) (2x3—5x2+2x—6)— (3x3+ 8x?—3x+7) =

. Vynasobte

a) (z+4)-(z—3) =
b) (8—-x) (8 +x)=
c) (x—=1) - (x*+x)=
d) (y*—10)-(y*+10) =

RozloZ na soucin (vytknutim)
a+a’=
2y +6y3=

a)
)
) 100a’b — 25ab’=
)
)

o O T

a-(c—6)+2a-(c—6)=
e) x>—-3x+x*=

) S5a-(b—1)-3c-(b-1)=
g) 5ac+15a=

h) 80d?-40d*=

-



